RECEIVED AUG 2 3 2006 KCC WICHITA

Kansas Corporation Commission Oil & Gas Conservation Division

ORIGINAL

Form ACO-1 September 1999

Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 7203	API No. 15 - 129-21779 -00-00
Name: Wheeler Oil Company	County: Morton
Address: P.O. Box 1439	NW_SW_NW_Sec. 10Twp. 35S. R. 42
City/State/Zip: Tulsa, OK 74101-1439	
Purchaser: Duke Energy Field Services	
Operator Contact Person: Roger Wheeler	Footages Calculated from Nearest Outside Section Corner:
Phone: (<u>918</u>) <u>587-7474</u>	(circle one) NE SE (IW) SW
Contractor: Name: Abercrombie RTD, Inc.	Lease Name: Simmons Well #: 2-10
License: 30684	Field Name: Greenwood (Topeka)
Wellsite Geologist: Larry Nicholson	Producing Formation: Topeka
Designate Type of Completion:	Elevation: Ground: 3,576' Kelly Bushing: 3,178'
New Well Re-Entry Workover	Total Depth: 4,705' Plug Back Total Depth: 3,178'
Oil SWD Temp. Abd.	Amount of Surface Pipe Set and Cemented atFeet
✓ Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ☐Yes ✓No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx qmt
Well Name:	AIT DG II 2008
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf. Conv. to Enhr./SWD	Chloride content 15,000 ppm Fluid volume 10,000 bbls
Plug BackPlug Back Total Depth	Dewatering method used Dry & Backfill
Commingled Docket No	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	
Other (SWD or Enhr.?) Docket No	Operator Name:
5-18-06 5-24-06 6-12-06	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or	Quarter Sec Twp. S. R East West
Recompletion Date Recompletion Date	County: Docket No.:
•	
Kansas 67202, within 120 days of the spud date, recompletion, workov Information of side two of this form will be held confidential for a period of	the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, er or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-131) and geologist well report shall be attached with this form. ALL CEMENTING S. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulation are complete and correct to the best of my knowledge.	ate the oil and gas industry have been fully complied with and the statements
Signature:	KCC Office Use ONLY
Title: President Date: August 21, 2006	Letter of Confidentiality Attached
Subscribed and sworn to he for manife in the state of the	If Denied, Yes Date:
LANC = E CARLA SEGRAVES U	Wireline Log Received
Notary Public - State of Oklahoma	Geologist Report Received
Notary Public: Commission # 03006561	UIC Distribution
My Commission Expires Ut 19, 2009	

Sec. 10 Twp. 35	s. R42	East ✓ West					• "			
		East Vest	County:	: Morto	on ,		, , , , , , , , , , , , , , , , , , ,	fate of the second seco		
INSTRUCTIONS: Show tested, time tool open a temperature, fluid recov Electric Wireline Logs s	nd closed, flowing ery, and flow rates	and shut-in pressures, if gas to surface test, a	whether sho along with fir	ut-in pres	sure reached	static level, hydro	static pressur	es, bottom hole		
Drill Stem Tests Taken (Attach Additional Sh	eets)	☐ Yes ✓ No		Log Formation (Top), Dept				Sample		
Samples Sent to Geolog	gical Survey	☐ Yes ✓ No		Name	•		Тор	Datum		
Cores Taken	;	Yes ✓ No	, !	Wauk	paunsee		2812	772		
Electric Log Run (Submit Copy)	i i	√ Yes No		Торе	ka		2908	676		
List All E. Logs Run:				Cher	okee	•	4006	-422		
Array Induction and	d Density - Neu	tron			Sand		4645	-1061		
				Miss	issippian		4660	-1076		
	i. :	CASING Report all strings set-	RECORD	Nev rface, inter		tion, etc.	,			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weig Lbs./	ght	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives		
Surface Casing	12-1/4"	8-5/8"	24		1,434'	Class A	475	2% Salt		
Production	7-7/8"	4-1/2"	10.5		3,225'	AA2	100	10% Salt		
	· · · · · · · · · · · · · · · · · · ·	ADDITIONAL	L CEMENTIN	NG / SQU	EEZE RECORI)				
Purpose: —— Perforate —— Protect Casing	Depth Top Bottom	Type of Cement	#Sacks	Used	Type and Percent Additives					
Plug Back TD Plug Off Zone	:						***************************************			
Shots Per Foot		ON RECORD - Bridge Plu Footage of Each Interval Pe					re, Shot, Cement Squeeze Record unt and Kind of Material Used)			
2	3,010' - 3,024				7,500 (gal 15% NEFE	Acid	3,010-24		
	<u> </u>	. ;								
	:				· · · · · · · · · · · · · · · · · · ·					
						-				
TUBING RECORD	Size 2-3/8"	Set At 2,993'	Packer A	ıt	Liner Run	Yes ✓ No				
Date of First, Resumed Pr July 29, 2006	roduction, SWD or En	Producing Met		✓ Flowing	Pump	ing Gas Li	ft Oth	er <i>(Explain)</i>		
Estimated Production Per 24 Hours	Oil None	Bbls. Gas	Mcf -	Wate `√Nón			Gas-Oil Ratio	Gravity		
Disposition of Gas	METHOD OF C	<u>.</u>	·~·		Production Inte	Mendingangangangan CARLA SEG18M				
Uvented ✓ Sold		Open Hole			ually Comp.	gay # cossaran Vimicommingled _ Vimicommingled _	要 JCi 賞i			
,, ., .	• ,	Other (Spe		<u> </u>	6002-15100A	anission Exp aes.	nos yla 🚊	*		



Bill to:

SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (3.16) 262-3699 (316) 262-5799 FAX

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX

SALES & SERVICE OFFICE: SALES & SERVICE OFFICE: 1700 S. Country Estates Rd. P.O. Box 129 Liberal, KS 67905-0129 (620) 624-2277

(620) 624-2280 FAX

Invoice

9293220 Invoice Invoice Date Order Station 605173 5/19/06 12761 Liberal Wheeler Oil Co. Service Description P.O. Box 1439 Cement Tulsa, OK 74101-1439 Lease Well Well Type Simmons 2-10 New Well AFE PO Terms

Net 30 CustomerRep Treater P. Lee A. Werth

<u>ID.</u>	<u>Description</u>	<u>UOM</u>	Quantity	<u>Unit Price</u>	<u>Price</u>
D100	PREMIUM/COMMON	SK	150	\$15.00	\$2,250.00 (T)
D101	A-CON BLEND (PREMIUM)	SK	325	\$17.85	\$5,801.25 (T)
C310	CALCIUM CHLORIDE	LBS	1200	\$1.00	\$1,200.00 (T)
C194	CELLFLAKE	LB	112	\$3.70	\$414.40 (T)
F193	GUIDE SHOE-REGULAR, 8 5/8"	EA	1	\$285.40	\$285.40 (T)
F233	FLAPPER TYPE INSERT FLOAT VALVES, 8 5/8"	EA	1	\$275.00	\$275.00 (T)
F103	CENTRALIZER, 8 5/8"	EA	3	\$90.00	\$270.00 (T)
F145	TOP RUBBER CEMENT PLUG, 8 5/8"	EA	1	\$145.70	\$145.70 (T)
F800	THREADLOCK COMPOUND KIT	EA	1	\$30.00	\$30.00 (T)
F123	BASKET, 8 5/8"	EA	1	\$332.50	\$332.50 (T)
E100	HEAVY VEHICLE MILEAGE - 1 WAY	MI	195	\$5.00	\$975.00
E107	CEMENT SERVICE CHARGE	SK	475	\$1.50	\$712.50
E104	PROPPANT / BULK DELIV SERVICES/TON MILE, \$200 MIN	TM	1453	\$1.60	\$2,324.80
E101	CAR, PICKUP OR VAN MILEAGE - 1 WAY	MI	65	\$3.00	\$195.00
R204	CASING CEMENT PUMPER, 1501-2000' 1ST 4 HRS ON LOC	EA	1	\$1,376.00	\$1,376.00
R701	CEMENT HEAD RENTAL	EA	1	\$250.00	\$250.00
S100	FUEL SURCHARGE		1	\$174.69	\$174.69

Sub Total:

\$17,012.24

Discount:

\$2,862.72

Discount Sub Total:

\$14,149.52

Morton County & State Tax Rate: 5.30%

\$485.08

(T) Taxable Item

Taxes: Total:

\$14,634.60

RECEIVED KANSAS CORPORATION COMMISSION

ENTERED JUN

DEC 10 2007

CONSERVATION DO WICHITA KS

PLEASE REMIT TO Acid Services, LLC, Dept No 1131, Tulsa, OK 74182

L			Ě	∮ ⊃	t			5	Ł	Ξ	7		*	•
€	N	€	R	Œ	Y	~	E	FT.	V		£	5		,



· .	ive inc.		TINE.	Lease سره m m نک	•	Legal /0-355-41W					
Date	- 19-06		Customer ID		County		# 2-10 State	Station	1 1/3		
	wheele,	, 0	, L Co		Depth	Formation	Shoe Joint 2.2	2 '			
A R					Casing (Casing Depth . To	452	Job Type ቔ፞፞፞፞ቜ፞፞ዿ፞፞፞	face		
. — G E —			,		Customer Representa	ative Pp+ Lte	Enerth				
						\bigcirc $/$					
AFE Nu	mber		PO Number	•	Materials Received by	Jat I	ee				
Stati Cod	ion Pro de Co	duct de	QUANTITY		· ·	ENT, and SERVICES USE	D	UNIT PRICE	AMOUNT		
L		60	1503K	Premium	1/commo	N					
<u> </u>	ומ .	01		A-CON							
-											
							-				
<u> </u>	<u></u>	10	120015	CAlcium	Chloride						
	<u>C1</u>	94	11216	CellFla	Ke						
						1-1					
	FI	93	lea	Guides	hoe-Reg	ular 85/8"					
	F2	33	IEA	Flapper Ty	ipe Insert	Float Value	8 1/8				
L	FI	<u>2c</u>	3eA	Central:	201 85/8	//					
L	1=1	45	1ea	Top Rue	Ber Cement	Plus 85/8'	·/				
L	F80	06	IEA	Thrend	Lock Comp	and Kit	L				
L	FI	2.2	1en	BASKet	8-5/8"			RECEI	VED		
				*****			- RVA	IIISAS CORPORAT	ON COMMISSION		
				, , , , , , , , , , , , , , , , , , ,				DEC 10	2007		
L	EI	00	195m:	Heavy Ve	ehiclemi	1-WAY		CONSERVATIO	N DIVISION		
L	E 1	יט		cmt ser		ď		WICHITA	, KS		
	Elo	4	1453Tm			er tow Mil	e #Jooms	N			
L			65mi	Pickup	mi 1-w.						
	. R 2	64	1eA	cmt cs	& Pump	- 1501 - 20	100' Fire	+ 4 hrs	•		
	Ric	1	1 e A	cont He	d Ren:	, ,					
					·····						
					Discount	ed Price					
				 	Plus TA	Xes	#	13974.8	3		
400	44 NE-11	0.4	50 5			670 1001 • Fey (60					
710	74 PAR ALI THE REPORT	T = AL				AMERICAN PROPERTY AND ADMINISTRATION OF THE PERSON OF THE	ARTICLE IN CAPACIAN	·			

Taylor Printing, Inc. 620-672-3656





TREATMENT REPORT

					NC.			<u> </u>									
Customer	ler o.	L	Co.			ase No).				Date						
Lease	mowis				We	ell # 2	-10)			5-	19-06		·			
Field Order #	Statio	n ne/	aL k	کے				Casing	Depti	ከ <i>4.5</i> የ	County o	rton		State K-S			
Type Job			Pi	o e				/	Formation	۱ س سـو	11	Legal D	escription_s 2-3-5-4				
PIPI	E DATA		,	ORAT	ING I	DATA		FLUID	USED	TREATMENT RESUME							
Casing Size	Tubing Si	ze	Shots/F	't	7.25	s k	Ac	con B	1002 3	% cc	4 #/ ga L						
Depth 144.59	Denth		From			50 S	.IPr	e Pad	d 2%	X /	RATE PRIVE CE	5 Min.	1/8m C				
Volume	Volume		From		То		Pa			Min			10 Min.				
Max Press	Max Pres	s	From		То		Fra	ac		Avg			15 Min.				
Well Connection		/ol.	From		То					HHP Used	l		Annulus F	ressure			
Plug Depth	Packer D	epth	From		То		Flu	ish Fresho	water	Gas Volum	ne		Total Load	1			
Customer Rep	presentative					Statio	n Mai		*	nett	Treater	len F.	Wertl	<u> </u>			
Service Units	125		228	33	8	34	4		0								
Driver Names	Allen	Α	bel	Ton	٦	Ter	<u> </u>										
Time	Casing Pressure		ubing essure	Bbls.	7 Pump	ed	/	Rate			Se	rvice Log 🛕	Lercro	mbie#3			
1600									on L	00,60	+up	DIANJ	5.	· .			
									Rig F	ulling	, -	C.					
1200									Hots	hot P	6/8	5/8 BA	sket	······································			
1915									85/8 C	59 24	#Pipe	6,0 1	Botto.	m			
1920									CIR	u/ Ri	<i>s</i> ·						
								·····	csg nookedup to ent.								
1947	2004				77			6	MIX	3255/	Ks A-	CON B	? lend	11.4 9991			
	200				<u> 25</u>				mix 150 sks Class A 2% CC/4 cd								
						\perp			FINM	ICX							
					:	_			Releas	e P-1	uy &	7		· · · · · · · · · · · · · · · · · · ·			
2037								5	start Lift	Disp). <u> </u>	-Gued	CIR				
	300		,				·	4	12,54	1,2 A	<i>ω/</i>	60 B	BLS Yu	uped			
06	e <u></u>							1.5	LAND	Plus							
2100	800#			8	9				Plug	dow	N .	, ,	01				
									100	BBLs	Cmt	- +0	5,7				
710 1				· · · · ·		_			RACK JOB	up.	1. 1						
2130					R	ECE V	ON CO	NEASSION	طه لـــا	comf	12 Fm						
				—KMSA	SCOR	, o o	าวกา	17			····						
					-DE	c V	<u>, 70,</u>	neiON	1	la aske	A	lent	crea				
					CON	SERVAT WICH	HON DI HTA, KS	VISION 3		· r r l to	746	(E)					



R701

S100

CEMENT HEAD RENTAL

FUEL SURCHARGE

SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX

10244 NE Hiway 61 P.O. Box 8613 Prett, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX

SALES & SERVICE OFFICE: 1700 S. Country Estates Rd. P.O. Box 129 Liberal, KS 67905-0129 (620) 624-2277

(620) 624-2280 FAX

Invoice

	9293220 Invoice	Į Jane	oice Date	Order	Station	
Bill to	(C)	_	5/26/06	12787	Liberal	
	Wheeler Oil Cot			escription	2100141	
	P.O. Box 1439			nent		
	Tulsa, OK 74101-1439	Lease		Well	Well Ty	ıpe
		Simmo		2-10	New W	
		AFE		PO	Terms	s
					Net 30)
	CustomerRep			ater	1 . 1 .	
	D. Rice		K. H	arper	· · · · · · · · · · · · · · · · · · ·	
ID.	<u>Description</u>	<u>UOM</u>	Quantity	Unit Price	<u>Price</u>	
D105	AA2 (PREMIUM) KANSAS CORPORATION COMMISSION	SK	150	\$17.45	\$2,617.50	(T)
D103	00/40 POZ (PREMIUM)	SK	25	\$11.30	\$282.50	(T)
C320	CEMENT GELL DEC 1 0 2007	LB	48	\$0.25	\$12.00	(T)
C195	FLA-322 CONSERVATION DIVISION	LB	105.8	\$7.50	\$793.50	(T)
C243	DEFOAMER) WICHITA, KS	LB	282	\$3.45	\$972.90	(T)
C244	CEMENT FRICTION REDUCER	LB	35.3	\$6.00	\$211.80	(T)
C221	SALT (Fine)	GAL	731.1	\$0.25	\$182.78	(T)
C321	GILSONITE	LB	750	\$0.67	\$502.50	(T)
C311	CAL SET V 1	LBS	710	\$0.54	\$383.40	(T)
F190	GUIDE SHOE-REGULAR, 4 1/2"	EA	1	\$125.70	\$125.70	(T)
F230	FLAPPER TYPE INSERT FLOAT VALVES, 4 1/2"	EA	1	\$160.00	\$160.00	(T)
F100	TURBOLIZER, 4 1/2"	EA	6	\$67.00	\$402.00	(T)
F142	TOP RUBBER CEMENT PLUG, 4 1/2"	EA	1	\$56.25	\$56.25	(T)
F130	STOP COLLAR, 4 1/2"	EA	1	\$25.00	\$25.00	(T)
C302	MUD FLUSH	GAL	500	\$0.86	\$430.00 ((T)
E100	HEAVY VEHICLE MILEAGE - 1 WAY	MI	130	\$5.00	\$650.00	
E107	CEMENT SERVICE CHARGE	SK	100	\$1.50	\$150.00	
E104	PROPPANT / BULK DELIV SERVICES/TON MILE, \$200 MIN	TM	309	\$1.60	\$494.40	
E101	CAR, PICKUP OR VAN MILEAGE - 1 WAY	MI	65	\$3.00	\$195.00	
R207	CASING CEMENT PUMPER, 3001-3500' 1ST 4 HRS ON LOC	EA	1	\$1,596.00	\$1,596.00	

Sub Total: \$10,586.69 Discount: \$3,016.52 Discount Sub Total: \$7,570.17 Morton County & State Tax Rate: 5.30% Taxes: \$271.27 (T) Taxable Item Total: \$7,841.44

EA

1

1

\$250.00

\$93.46

\$250.00

\$93.46

Jetstar*COPY

FIELD ORDER 12787

ENEE	ZGV S	ERVIC	~ (~ C~	Subject to Co	orrection			Real . — ?
Trans R 700 Trans R	& would be some	ERVIC	NC.	Lease Simmon	15	Well # 2-/0	Legal 10-3	55-42W
Date 5-26	(-0/	Customer ID		County Morta		State KS	Station L. 62	ral
c ////	1/20 01	Campar	A	Depth 3228	Formation	<u> </u>	Shoe Joint 40)
H WILL	der Un	Campai	19		Ising Depth	TD .	Job Type, Lone	I, (NW
R ———— G			*	Customer Representati	ive_/ ,	Treater		
E	ä			Devid	Rice		Hirby	Harpes
AFE Number		PO Number		Materials 🗸	1	100		
Station	Product	<u> </u>	i -	Received by		& lice	T T	T
Code	Code	QUANTITY		MATERIALS, EQUIPMEN	IT, and SERVICES U	SED	UNIT PRICE	AMOUNT
<u> </u>	0105	150 Sk						
<u> </u>	0103	25 Sk	60/40 Po	2				
L	C320	48 15	Cerent	Gel .				
1	C195	105-8 1h	FLA-322					
سا	C243	282 15						
L	C244	35.3 lb		Friction Re	elucio			
]	C221	7311 /6		ine)	00000			
1.	C321	750 16	Girsoni				-	
1	C311	710 13	Cal	k	 		<u> </u>	<u> </u>
<u>~</u>	16311	710 13	Cal Scot				<u> </u>	
	400	ו איר נ	1 11 1	7 . 12	1/1/1			
<u></u> -	F190	1 EA	Guide 2	hoc-Reg,	7/2			
سا	F230	1 EA	Flapper	Type Inse	ct, 4/2			
<u> </u>	F100	6 EA	Turboli					
<u>し</u>	F142	I EA	Top Rubb	4 Cement Pl	ng, 4/2"			
<u> </u>	F800	OEA	Thread b	CK Compour	d Kit		ļ	
L	F130	1 EA	Stop Col	100 4/2"				
<u>L</u>	C302	500 Gal	Mudflu	llor, 41/2"				<u> </u>
L	Eloo	BOMI	Heavy Ve	hicle Miles	ce	RECEI\	ED	
L	E107	100 SK	Coment	Service Che	ores /	KANSAS CORPORATI	ON COMMISSIOM	
L	E104	309Tm	Bulka	elizery	0	DEC 10	2007	
Ī.	E101	65 MI	Pirkun	Milione		CONSERVATIO	-	
1.	R207	1 EA	Casina a	, , ,		WICHIT	KS	
	R701	1 EA	Cement 1	Ward Range	<i>Q</i>			
<u> </u>	7.707	I EH	Cement 1	TOUR MENTICE	·			
				·		1		
			· · · · · · · · · · · · · · · · · · ·	<u> </u>				
			<u> </u>	11-11				7/17/71
<u>i</u>			Discour	nted Total Plus T			<u> </u>	7476.71
102//4 N	E Hiway 61-	DO Boy 96	3 . Dratt KC 6	ر کریر 7124-8613 • (620) 6	/AX 72-1201 - Fax /	520) 672-5292	TOTAL	





TREATMENT REPORT

					JC.													
Customer	er Oil	Com	מממו	4	Le	ase No.						Date						
. 57	nmons	,	7		We	ell#	2-,	10]	الم	5-20	6-06			
Field Order	4 (04-41-	Libe	cal		•			Casing	1/2	Depth	228	County	, ,	cton	,	Sta	ite//5	
Type Job	onesta		•					CNn	ク For	mation				Legal D	escription 0 - 34	55-	42W	
PIP	E DATA	7	PERF	ORATI	NG [DATA	FLUID USED				TREATMENT RESUME							
Casing Size	Tubing Si	ze s	Shots/Fi	t			Aci	osk A	9-2	102	Salt.	RATE PRESS & ISIP 10% (South 22)						
Depth 3228	Depth		From	Т	ō		Pre Pad - 25%				May			2	5 Min.			
Volume	Volume	ı	From	Т	ō	o		5#-	1.51	C+3.	Min 5	9 Ga	1		10 Min.			
Max Press	Max Pres	s r	From	Т	0) , <u> </u>		ic			Avg				15 Min.			
Well Connecti	on Annulus \	/oł. I	From To		o	,					HHP Use	d		<u></u>	Annulus	Pressu	ıre	
Plug Depth	Packer D	epth	From	Т.	o		Flu	Way	ter		Gas Volui				Total Loa	ıd		
Customer Rep	oresentative	anb	1 Ric	<u> </u>		Station	Man	ager Je	ry B	cons	ett	Trea	ter	irby	Harp	er		
Service Units	126	22	27	344		50Z			ľ									
Driver Names	Harper	Olv	era	Holgu	امرر	.*	ŧ,					•						
Time	Casing Pressure		bing ssure	Bbls. F	ump	ed		Rate					Servi	ce Log				
2300								···	On	Loc	ation-	Spe	of a	Rig	np			
0000									Plu	4	Rathe	2/2						
0009	200			12				5	54	Start pumping 500 Gal of Mudflus								
0013	100	-		<u>40</u>	<u> </u>			5	5+01	+ mixing 150 sk of AA-2 @, 15# A+ down-drop top dug - Clean Liv								
0024									Shi	nt a	loun -	<u>drop</u>	top	2 plug	- Clea	un L	-incs	
0031	100			_0	-,		5 5			art displacing with 50.5 bbl								
0037	200			28				5	Displacement Reaches Cement						-			
0040	400			40				2		Slow Rate Bump Plug Reliese Ressure - Float Held Job Complete								
0046	500-1	100		50.	<u>.5</u>				Bu	my	PINO	<u> </u>		. 1-1	+ /	11		
0047	1100-0	<u> </u>		(<u></u>			····	ne	1 Cli	Se Pro	<u> </u>	<u>ri</u>	- F10	oat k	KSC	X	
									+-	1	Course	n/o L				<u></u>		
				 				<u> </u>	 ~	<i>99</i>	wrif						<u> </u>	
	The state of the s				ï													
	-				•				 								· · · · · · · · · · · · · · · · · · ·	
							·····							<u></u>				
												*		RECORP	CEIVED DRATION CO	MAISSK	OM	
													KAN		1 8 200			
														CONSE	VATION DIV			
			\longrightarrow								-			VOIGE	VICHITA, KS			
						_												